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H = 2.0 m
Py = 3.0 m
hy = 170m
h, = 0.15m
L,= 197m
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h, = 1.70 m

b = 1.00 m
hy; = 0.80m
H—R#k M
SGCC
1.2 mm
W = 54 cm
Z = 241 cn®
AR EDD1.3METS
fb = 13365 N/cm*X1.3= 17375 N/cm®
d = 4.86 cm
2.4 mm
STK500
A = 348cm’
Z = 383cm’
i = 1.64 cm
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fb = 23430 N/cm®X1.3= 30459 N/cm®
WRESe A

[ RA) AFTEDO-D1.3FTS

BRI T 4900 N/fE %X 1.3= 6370 N/{&

BEITT 3430 N/ X 1.3= 4459 N/{&
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V,=Vy+Ke* S+ Ex
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Vo @ EHERGE 18.0 m/s
16~20m/sD>H— %872 Mgk &£ F

Ke : AEREHEMEREK 1.00
TUM - A BR< — AR Ao 5

S : H EEEZITIIT BB RS AR 1.50
# EAHDOEE0~5m,/ ER - AE

Er : IHEREREMICLIEHEREK 1.00
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V,= 27.0 m/s
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q;= 455.6 N/m”

3) ESIRE
C=(0.114+0.945C, *R) * F
C : RIRE
R : AR (M EDEEDEE) 0.58
Co : %Ziﬂﬁf%i?k(?ﬁ%i—l) 2.00
F . RENBICIHHERK R EE) 1.00
_J:‘Efﬁ%lhﬂjﬂ-?ﬁk%*bé
Cc= 1.21
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P= 549.6 N/m’ = 0.055 N/cm®
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w= P-W= 0.055 N/cm?®X 54 cm= 2.97 N/cm
fiFE—A b 9
w-L? 2.9677 N/cm X 170 c¢m
M= = . 10721 N-cm
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T s 77
M 10721 N+cm
o=""" = T = 4448 N/cm® < 17375 N/cm®
Z 2.41 cm®
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w= P-W= 0.055 N/cm® X 100 cm= 5.50 N/cm
g F e —A b 2
weL? 5.50 N/cm X 300 cm
M= = = 61827 N-cm
8 8
HT IS
M 61827 N+cm
o=""" = T = 16143 N/em® < 30459 N/cm®
Z 3.83 cm®
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P;=P:Pw- (H/2)
= 0.055 N/cm®X 300 cm X 100 cm= 1649 N
2) Y2 AT D8 S
P, 1649 N
Q= = = 3252 N
cos 0 0.51
3) EEJR DT
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Lk 197 cm
A== =" = 120
i 1.64 cm
HIE BRI L

A=)/ n*E/0. 6F= 97.6
F= 35500 N/cm®
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0.29 0.29 X 35500 N/cm®
fk= ——— F = = 6781 N/cm®
(L/A)? (1203 + 97.60 )*
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Q 3252 N/cm2
oc="— @ ==y 934 N/cm’ < 6781 N/cm®
A 3.48 cm?
4) R NAT R OBRESEORS
Q= 3252 N < 4459 N/fE=B1E7 7 7Tt
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